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KENYA MEDICAL TRAINING COLLEGE-MOMBASA CAMPUS

DEPARTMENT OF PHARMACY

CONTINUOUS ASSESSMENT TEST 1 

MEDICAL PHYSIOLOGY 

SEPTEMBER 2012 CLASS

DURATION:  1 Hour

DATE: November 2012

COLLEGE NUMBER: .................................................................
INSTRUCTIONS

i) Write your examination number in the space provided and on ALL the answer sheets used.

ii) The paper consists of one section which consists of 30 multiple choice questions which you should answer by circling the letter corresponding to the correct answer.

SECTION A- Multiple Choice Questions (40 Marks)

1. Which of the following statements is not true?

a) All cells require oxygen for metabolism

b) Metabolic wastes are toxic to all cells

c) All cells are surrounded by a fluid compartment

d) All cells have the ability to do divide and regenerate

2. Along which of the following nerve cells does information about any stimulus travel from the skin to the spinal cord?

a) afférent neurons.

b) efférent neurons.

c) interneurons.
d) sensory pathways.
3. Which of the following supportive cells of the nervous system should have largest amounts of lysosomes?

a) Schwann cells.

b) oligodendrocytes.


c) microglia.



d) astroctyes.

4. Which of these statements is true?

a) About 60% of body water is located in blood vessels.

b) Approximately 60% of body water is in the internal environment.

c) The internal environment surrounds all body cells.
d)  The total amount of water within body cells is 42 litres.

5. Which phase of the cell cycle is associated with intensified oxidative phosphorylation?

a) Interphase

b) Prophase

c) Metaphase

d) Telophase

6. Which of these items is not subject to homeostasis within the human body?

a) Temperature

b) pH

c) Body fluid volume

d) None of the above

7.  What is the role of effectors in a homeostasis mechanism?

a) They make the mechanism very sensitive to small changes

b) They act to restore changes in the set point

c) They detect changes from the normal set point

d) None of the above

8. Which body compartment contains the least volume of water?

a) Intravascular space

b) Interstitial space

c) Intracellular space

d) Extracellular space

9. Which of the following is not a function of smooth endoplasmic reticulum?

a) Synthesis of steroids

b) Detoxification of lipid-based drugs

c) Storage of calcium

d) None of the above

10. Refer to this statement: ‘The integrating centre analyses the information and then causes the effector to produce a change in the same direction as the initial change’. Which mechanism of homeostasis does this statement refer to?

a) Negative feedback

b) Positive feedback

c) Positivity

d) Negativity

11. Which of the following events characterize metaphase during mitosis

a) Centomeres of chromatid pairs line up at the equator of the spindles

b) Centromeres divide and identical  sets of chromosomes move to opposite poles of the cell

c) Nuclear envelope appears

d) Chromatin fibres shorten and coil

12. Which of the following hormones is involved in positive feedback mechanism of regulation?

a) Antidiuretic hormone

b) Insulin

c) Glucagon

d) Oxytocin

13. Which of these statements about cell division refers to meiosis?

a) It takes place during human growth.

b) It preserves the diploid constitution of chromosomes in humans.

c) It ensures that chromosome numbers do not double in the next human generation.

d) It ensures that the chromosomes type in the human genome does not change.

14. Which of the following statements about buffers is not true?

a) One buffer system can correct changes in acidity or alkalinity.

b) Kidneys perform their role as the body’s most powerful buffer organs quite slowly.

c) Buffer systems of the body are located in the lungs and kidneys.

d) A buffer replaces an acid with an alkali

15. What is the common factor among these items: exocytosis, phagocytosis, pinocytosis?

a) They are forms of membrane transport

b) They involve movement of several molecules across the cell membrane at the same time

c) They are non-carrier mediated means of transport

d) All of the above

16. Which of the following is not a function of bone?

a) Haematopoiesis

b) Storage of calcium and phosphates

c) Attachment of skeletal muscles

d) None of the above

The graph below illustrates the action of a carrier protein that is capable of transporting molecules of either substance X or Y. Use it to answer question 17 and 18.
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17. Which property of carrier proteins does the graph highlight?

a) Specificity

b) Competition

c) Saturation

d) All of the above

18. How does the presence of both molecules in a fluid compartment affect the ability of the carrier protein to transport molecules of only one of the two?

a) The carrier transports none of  X or Y

b) The carrier transports more of each

c) The carrier transports less of  X and less of Y but in equal concentrations

d) The carrier transports more of Y than X

19. What is the physiologic significance of gates that are located at the openings of ion channels?

a) To facilitate diffusion of ions across the cell membrane.

b) To facilitate the selective flow of ions across the cell membrane.

c) To act as a buffer since they are proteins.

d) To replace worn out parts of the ion channels.

20. What triggers the opening of Na+ ion channels on the post-synaptic membrane?

a) A rise in the potential difference.

b) A change in the permeability of the cell membrane.

c) The binding of neurotransmitter to receptor proteins on the post synaptic membrane

d) The exocytosis of neurotransmitter at the pre-synaptic membrane.

.

21. How do astrocytes offer their supportive role to the nervous system?

a) By recycling neurotransmitter metabolites.

b) By uptake of vitamin B12 for synthesis of parts of a neuron.

c) Through action as migratory phagocytes.

d) By lining the floors of cavities of the nervous system.

22. Why is the gray matter of the central nervous system gray?

a) It contains cell bodies and myelinated axons.
b) It contains cell bodies of neurons.

c) It contains axons of neurons.

d) It contains tracts.

23.  Which of the following is not a function of neurons?

a) Response to physical and chemical stimuli.

b) Secretion of chemical regulators.

c) Conduction of electrochemical impulses

d) None of the above.

24. -90mV is the normal resting membrane potential in

a) Muscles

b) All body cells

c) Nerves and large muscle cells

d) Nerves, smooth muscle and cardiac muscle cells.

25. Which of the following statements is not true?

a) The nervous system consists mainly of the central and somatic nervous systems.

b) Autonomic functions do not require sensory input.

c) The action potential of a neuron has a plateau phase.

d) All of the above.

e) None of the above.

26. Which of these statements is true?

a) The generation of action potential involves opening and closing of Na+ channels before K+ channels open.

b) The cell membrane becomes more refractory during the hyperpolarization phase.

c) Schwann cells and oligodendrocytes play similar roles but in different parts of the nervous system.

d) All of the above.

e) None of the above.

27. Which of the following organic bases is required for synthesis of Guanosine Triphosphate?

a) Adenine.

b) Uracil. 

c) Guanine.

d) Cytosine.

28. The smooth muscle that is located in walls of various body cavities and tubules helps in

a) Making the cavities excitable.

b) Involuntary contraction to aid onward propulsion of contents.

c) Dilating the structures in order to hold more contents.

d) Voluntary contraction of the walls.

29. How many osmoles would be supplied by a mole of Al(OH)3 in solution?
a) 1 osmole

b) 2 osmoles

c) 3 osmoles

d) 4 osmoles
30. Which of the following takes place during detoxification?

a) Conversion of molecules into lipid-soluble compounds.

b) Conversion of molecules into more active forms of a substance.

c) Conversion of molecules into water-soluble and less active forms.

d) None of the above.
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